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21, Hal BT MG = a+ B =/3+1+/3-1=23
Tl BT S = af = (V3+1)(V3-1)
=(V3)*-()*=3-1=2

fgord 9gue = X’ - (a+B)x+aB
— X2 = (24/3)x+2

= X2 - 24/3x+2
22. 2x-3y=8 ax+by+c =0
4x-6y=9 a,x+hy+c,=0

Comparing we get

23, A fd T AN W x AR x+1 B |
TEIRR, X(x+1) = 240

= x>+ x=240
= Xx*+x-240=0

24, qd 85 (0,0) ¥ p(6,-6) I

= J(6-0)° +(-6-0)°

=/36+36

=J72 =6J2 7AS

D = /(% ~%)2+ (¥, ~ ¥,)?
[



25 LHS-=
tand-1
_ (tang-(tan® 6 + tan x1+1°)
(tan 6 -1)
{a°-b° = (a-b)(a* +ab+b?)
= (tan® @+ 1+ tan b))
=sec’f+tand=R.H.S
L L.HS=RH.S
2. 54)336(6 gfdefs faurer fafd
% 336=54%x6+12
12)54(4 54=12x4+6
ﬁ 12=6x%x2+0
6)12(2
12
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27. | b B9 ®1 U Yol =a cm
wv=a’
[64E a°
a=¥64=4cm
TERIR, WX &1 Bl I felid) B 91T 77 & |
dISIg = 4cm+4cm=8cm
YA &1 gS & = 2(Ib+bh+1h)cm?
:2(8x4+4x4+8x4)=2(320m2+16cm2+320m)
= 2x80cm’ = 160cm’
28. feargeme
[AHO = 30
- OA AP (97 )

L T®AP =90°

[TAOP =180 - (90" +30)
=180 -120° = 60°

[AOB = 2x60" =120
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f3ar 2 A(a 2),B(3,4)
CRUEE:LIPCA

A 3R B @& @ o g =/(3-a)*+(4-2)°

—=8=,/(3-a)>+2°

— 8 =(3-a)’+4

— 64-4=(3-a)’

— 60 = (3-a)?
—3-a=+/60
—3+./60=a

[ad (3+/60)

% o @ g foom g

b

Ca#p="", a,6’=§

a’+p’=(a+p) -2xp

_ b*-2ac
=—

Ca’k+ B?

fe T 99 2,5,7,9,10,15
weEE &1 gd 4

Y (X) = @@ wen

{p =0 %)+ (v, )

ax+bx+c d YIP T |




_ 2+45+7+9+10+15 48
6 6

X =8
AT 6 3+2y/5 TE Uk w0 © |
Eﬁ:W3+2f=% :>2\/_=%—3 - J5=2-3
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foar mar fgama afiexor
22 -7x+3=0

a=2b=-7,c=3

D =b®-4ac=(-7)°-4x2x3

=49-24=25

:—bi\/E
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X

_~(-7)%y/25 _7%5

2x2 4
_7+57-5_122__1
4 44 72
1
L =3=
Tt 72
AP ¥ fear gom ©
a=5d=3a,=50
a,=a+(n-1d

=50=5+(n-1)x3
=50+5=(n-1)x3
=45=(n-1)x3



45
=—=(n-1
3 - (Y

=n-1=15
=n=15+1=16
n=16

S, :2{2a+(n—1)d}
1—26{2><5+(16—1)><3}

= 8(10 + 45) = 8x 55 = 440
n=16, S, =440,

3. Pra @ 3 W Rl & ageR
AB = /(5-6)? + (=2 +4)?
=J1+4 =45 33
BC = /(6-7)2 +(-4+2)?
=J1+4=15 3P7

[AB = BC

.- aABC THAEATE B |

A (5-2)

B (6,4) C (7-2)

3. % D IR E T BC 3R AC @1 %7 fag B |
[DE|| AB

(i) 3R (i)
AFDE &R BDEF Td WARR aqH ¢ |

[THDF = [AXDHF = [B]
[ADEF ~a ABC

ar(nABC) (AB)?  AB?
=14

1 2
(2{sDEF) _ (DB) _ (2 AB) {1)2
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1
secd -tand
_ 1 ><seC49+tan0
secd-tand secld+tand
_ secf+tanf _ secd+tand
s H-tan’d 1
=secd+tand=RH.S
(-sec’f-tan’ G =1)

LH.S=

LH.S=RH.S.
fer gam 2
tan 2A = cot(A-180")
Rkl
— COt(90" - 2A) = cot(A-18")
=90 -2A= A-18 {-tan @ = cot(90" - )
— 90" +18 = A+2A
=108 =3A
= A= & =36
3
A3 36
fear gam 2
A= 26.8
wIfeadT = 27.9

dgelh =3 HEID -2 HEY

=3%x27.9-2x26.8

=83.7-53.6
=30.1
Ldgeldh = 30.1
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x=0.6

= 10X = 6.66..........(ii)

(i) ¥4 (i) oA W
9x=6

6_2
X=—=—

9 3
(32

3
w foram & d@ x 2
miﬂﬁﬁq=%

1_10

YRR, +;_3
= 3x*+3=10x

= 3x*-10x+3=0

= 3x°-9x-x+3=0
= 3X(x-3)-1(x-3)=0
= (x-3)(3x-1) =0

o 3x-1=0
j_XB ) W 8x=1
o 1
X==
3
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10—25
25—40
40—55
55—70
70—85
85—100
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72 Walfd JRARAT 7 S 40-55 & | T | I IGAD T 40-55 B |
[I=M0,f,=7,f-1=3f, =6,i=15



f,—f -1
2f,— f -1-f,

dgald (M) =1 +

—a0+— 173 15
2xXx7-3-6

= 40+ﬂ><15
5

= 40+4x3=43
[M] = 43

43, O ™ AfeR v
Xx-y=1

(0.8)
=>y=x-1

Y=8-2X

A-¥Y=1

U6 W &F <@d © b QA1 @ (3,2) T IR Bl dredl €| A x=3,y=2
4. A F US B HIE AB,P H L aX
YA @ c g W BAT 8| AP=PC=x
4 & W7 [PAB=30" &1l 2|
BC =8m.
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cos30° = B—C
PC

J3_8
:>___

2 X
— /3x=8x2

16
X=—mMm.

NE

16 8 _16+8

[AH=AP=PB= 7+ —=—"—
V3 V3 8

_ 24 _Bx3x\3

V3 J3
LU &I TS =8/3m

m=8y3m.

7 forar {6 ABC & A B fo9H [ABC =90

AT [ FHDI F |
g4 Rig @x 1 8 f& AC?= AB+BC?
gge— BD CAC WiHT|

JA- AADB Td AABC H

LADB = ABC =90
[A3 [A]

[2ADB ~sABC (AAY)
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_AB
AB AC
= AD.AC = AB°........... (i)
S YBR 2BDC ~a ABC

CD _BC

BC AC
— CD.AC = BC2.............. (ii)

(i) AR (i) BT T R

AD.AC +CD.AC = AB? + BC?
— AC(AD +CD) = AB? + BC?

a1, AC.AC=AB’+BC? (. AD+CD = AC)

[AQ? = AB? + BC? Jg! g &% o |

-+ 60 T 3 g 360° BT IV A 2 |

o o 360
60

[z " N 5x6 =30
e @1 9§38 @l W18 (r) =14cm

2
5 fiFe ¥ T =119
¥ o 360"

22x14%x14%x30°
= cm
7% 360°
_22x14%x2
R

= %cm2 = 205.3cm?’.

(i) AB=12cm. W]

(i) [BAX = [ABY 94|



(i) AB @I 3+5=8 IR T H (A..ooeee.... A) e oe |
S A BY B 8 WG AN H (B, Byeveeeeee. B,) fawad ¥ |
(iv) A®I B ¥ MeT <1 I8 AB @I P a5 W dredl 2|

AP =4.5cm U9 PB=7.5cm.




